P05-1

Supreme Diesel

P O BOX 2058 Warman SK S0K 4S0



INVOICE

BILL TO

INVOICE

20201872

DATE

02/04/2025

TERMS DUE DATE Due on receipt 03/09/2025

VIN# 1XKM/DP0X9K.I951125 MAKE & UNIT #

ODOMETER 821153 KM

1XKWDP0X9KJ951125	2019 K/W 1033		821153 KM			
ACTIVITY		QTY	RATE		AMOUNT	
Customer Request:CR Coolant consumption/ over pressure in coolant re	eservoir.	1	0.00		0.00	
Service:SR Diagnosed and found to be combustion gases er informing the customer, removed cylinder head a head to a machine shop for testing and inspectio perform a cylinder liner height check, and the encleaned in preparation for reassembly.	at their request. Sent cylinder n. Bocked time with Peterbilt to	11	125.00		1,375.00	
Service:SR Machine shop charges for cylinder head testing	(3rd party charges)	1	1,450.00		1,450.00	
Service:SR Measure liner heights. (3rd party charges)		1	419.58		419.58	
Service:SR Peterbilt checked the liners height, passing with customer, customer wants to go with another en removed hood, pulled engine out. (removed parts	gine, so removed transmission,	16	125.00		2,000.00	
Service:SR Reinstalled cylinder head and all other parts back ready for core return as per customer's request.		4	125.00		500.00	
				S	Subtotal: 5,744.58	
Service:SR Installed new custom engine harness and ECM of CECU and engine ECU to ensure proper comm across multiple systems, including ABS, fan cont and the J1939 data link for e-log integration. (still 45hrs (not charging)	unication and functionality irol, Jake brake, cruise control,	45	125.00		5,625.00	
Service:SR Removed series 60 engine from the engine stan- shop, modify series 60 stand to fit Paccar engine		4	125.00		500.00	

Service:SR Install motor mount kit, drill 8 5/8 holes for rear motor mounts in frame (enlarge holes).	10	125.00	1,250.00
Service:SR Install engine onto chassis.	4	125.00	500.00
Service:SR Install A/C and alternator bracket.	1	125.00	125.00
Service:SR Fit radiator to fan shroud, fan and fan hub.	2	125.00	250.00
Service:SR Installed transmission with new clutch, installed new transmission bolts and clutch bolts. Replaced input shaft kit. Tightened transmission bolts and clutch as well.	6.50	125.00	812.50
Service:SR Oil cooler was loose and the old bolts were worn out, replaced oil cooler bolts.	0.50	125.00	62.50
Service:SR Installed drive shaft to measured yoke to hanger bearing and it fits perfect.	0.50	125.00	62.50
Service:SR Installed compressor airline a used one from a different truck, used fittings and elbow pipe to secure it property.	1	125.00	125.00
Service:SR Added another connector on the transmission harness for the speed sensor. Installed 2 male terminal and secured harness.	1	125.00	125.00
Service:SR Secured battery cables, engine harness and installed the GLPM data processor on the firewall.	3	125.00	375.00
Service:SR Installed shifter with new gasket, secured transmission lines.	1.50	125.00	187.50
Service:SR Installed transmission speed sensor and secured cable, had to remove to be able to remove plastic plug.	1.50	125.00	187.50
Service:SR Transmission temp sensor was broken, replaced it.	0.50	125.00	62.50
Service:SR Installed power steering hoses, clamps and new reservoir cap, added ATF oil.	0.50	125.00	62.50
Service:SR Installed fan and new alternator with new belts, tightened all bolts to spec, new A/C compressor was installed as well.	1.50	125.00	187.50
Service:SR Adjusted clutch linkage.	1.90	125.00	237.50
Service:SR Added 15L of transmission oil.	0.50	125.00	62.50
Service:SR Installed hood and secured it.	1	125.00	125.00
Service:SR Installed 2 manifold heaters with 6 3/4"x1/2" 90* elbow fitting, 3 5/8"x1/2" 90* fitting, 10 5/8" clamps, 10 3/4" clamps, 18ft 3/4 heater hose, 6ft 5/8 heater hose, secured all hoses. 4 3/4" plugs and 1 1" plug.	10	125.00	1,250.00
Service:SR	1.50	125.00	187.50

Installed drive shafts, torqued all U-joints and installed 2 new bolts for the hanger bearing. Installed Y exhaust pipe back with new clamps.

bearing, installed it exhaust pipe back with new clamps.			
Service:SR Exhaust pipe after turbo: got the proper measurements and parts to be able to build turbo pipe, did some welding and put together connector flared, flared adapter, elbow pipes, reducer, exhaust elbows, gaskets and clamps.	5	125.00	625.00
Service:SR Secured engine harness, secured all hoses and cables around the engine top and bottom, secured battery cables as well. Used tube clamps and ties. Installed synflex hose 1/4" for the fan and air compressor, installed new fittings and couplings.	4	125.00	500.00
Service:SR Installed radiator with new top and bottom coolant hose, new coolant reservoir hose and clamps, had to cut and do some welding on both air to air pipes because they were too long. Installed hoses and pipes, installed new drain lock, added the same coolant back and 1 more gallon.	8	125.00	1,000.00
Service:SR Installed 2 new hoses 1 for the fuel check valve and the other one for the fuel pump and 2 fittings for the water separator.	1	125.00	125.00
Service:SR Removed air to air pipe and installed shocker pass solenoid back.	0.50	125.00	62.50
Service:SR Recharged the A/C system with 3.75 lbs. of freon, performed a 20-minute vacuum on the system prior to charging.	0.50	125.00	62.50
			Subtotal: 14,737.50
Parts:Parts Fan shroud extension ring 3" with rivets	1	819.94	819.94
Parts:Parts AC compressor	1	700.70	700.70
Parts:Parts Air intake adapter piping kit	1	354.90	354.90
Parts:Parts Air intake adapter piping kit- external breather	1	354.90	354.90
Parts:Parts Front engine mount bushing kit-with hardware	1	455.82	455.82
Parts:Parts Front trunnion support bracket kit	1	773.50	773.50
Parts:Parts Engine mounts	1	1,365.64	1,365.64
Parts:Parts Trelleborg style-2 bolt-frame side	1	2,284.10	2,284.10
Parts:Parts Piping install kit	1	1,192.10	1,192.10
Parts:Parts Throttle position sensor	1	464.10	464.10
Parts:Parts Belt set-10/8 groove serpentine	1	200.20	200.20
Parts:Parts Fan hub	1	3,084.90	3,084.90

Parts:Parts Front engine upfit-10/8 groove serpentine kit	1	3,305.30	3,305.30
Parts:Parts Charge system harness	1	1,501.50	1,501.50
Parts:Parts AC plumbing- suction line	1	409.50	409.50
Parts:Parts AC plumbing- discharge line	1	809.90	809.90
Parts:Parts Harness with processor	1	6,643.18	6,643.18
Parts:Parts Piping kit- RAD and CAC	1	2,730.43	2,730.43
Parts:Parts Power harness	1	2,848.30	2,848.30
shipping:Freight Freight and duty charges	1	1,744.36	1,744.36
Parts:52529801CTLF 15.5in easy pedal clutch assembly	1	1,094.50	1,094.50
Parts:BCH8642K52NPBA Clutch install kit	1	326.29	326.29
Parts:8414KLUF Speed sensor kit	1	65.90	65.90
Parts:70557.775 Transmission temperature sensor	1	71.01	71.01
Parts:6004275 Power steering reservoir cap	1	10.26	10.26
Parts:925-52653-01 Fan belt	1	47.18	47.18
Parts:80293145374 Fan blade	1	172.44	172.44
Parts:Parts Power steering hose	1	55.75	55.75
Parts:Parts Custom hydraulic hose	1	71.87	71.87
Parts:Parts Custom hydraulic hose	1	68.71	68.71
Parts:Parts Brass fitting 80-60-4140G	1	7.27	7.27
Parts:00014472-10 Atternator pulley	1	131.35	131.35
Parts:1771MA Alternator	1	596.97	596.97
Parts:000-09113-50 Manifold-heater	2	272.50	545.00
shipping:Freight Freight on manifold-heater	1	30.00	30.00

Parts:Parts 6"x12" metal	1	74.25	74.25
Parts:210MSA 4" exhaust gasket	3	21.10	63.30
Parts:20795991100A 5" exhaust gasket	1	64.80	64.80
Parts:8443558 Fuse holder	2	13.43	26.86
Parts:1510.137 15AMP fuse	2	0.57	1.14
Parts:6079.355 14-16GA butt connector	2	0.68	1.36
Parts:8-6CS 5/16 copper lug	2	1.10	2.20
Parts:500448 3/16" shrink tube	1	1.39	1.39
Parts:1008-38 1/2" flex tubbing, per ft	4	1.40	5.60
Parts:Parts 10 gauge wire black, per ft.	7	1.32	9.24
Parts:211.617.370 7/16X1-1/2 bolt	12	1.09	13.08
Parts:2.617.370 7/16x2-1/2 bolt	8	1.25	10.00
Parts:6187WF 7/16 lock washer	20	0.68	13.60
Parts:6178WF 7/16 flat washer	12	0.47	5.64
Parts:212.38.022 3/8-16X2 1/2 bolt	2	0.95	1.90
Parts:21.24.488 Union tube 3/4	1	7.38	7.38
Parts:01-24.488 Union tube 5/8	1	7.38	7.38
Parts:D-421X.488 Elbow pipe 45*	1	5.99	5.99
Parts:D301 1/2 coupling	1	3.81	3.81
Parts:6642-48 Male terminal	2	1.42	2.84
Parts:1206-38 Zip ties1.75"X .18"W	20	0.07	1.40
Parts:5206-38 Zip tie 14"1/2 Black	12	0.12	1.44
Parts:1.41.022 1/4 bolt	4	0.89	3.56

Parts:41.723 1/4 lock nut	4	0.97	3.88
Parts:418WF 1/4 flat washer	8	0.70	5.60
Parts:2.21.370 1/2 bolt	2	1.79	3.58
Parts:1/2" lock nut 1/2" lock nut	2	1.91	3.82
Parts:218WF 1/2" washer	4	0.67	2.68
Parts:72253 4" exhaust clamp	1	13.98	13.98
Parts:SS5CEN 5" exhaust clamp	2	11.94	23.88
Parts:21-301G 3/4 power steering hose, per ft.	2	9.12	18.24
Parts:214293 3/4 hose clamp	12	3.65	43.80
Parts:685 Power steering fluid, per L	3	15.25	45.75
Parts:471881510V 75W80 Transmission gear oil, per L	15	25.84	387.60
Parts:014193 5/8 hose clamp	10	3.41	34.10
Parts:E-121.488 3/4 pipe plug	1	6.21	6.21
Parts:400838 1" flex tubing, per ft.	14	2.24	31.36
Parts:750-B02G 3/4" hose jointer	1	5.99	5.99
Parts:E-811.488 Pipe plug square	1	8.39	8.39
Parts:B-811.488 Pipe plug	2	1.83	3.66
Parts:323602P Pipe reducer	1	72.15	72.15
Parts:03614 4" elbow exhaust pipe	1	77.82	77.82
Parts:297532P Connector flared 4"	1	96.78	96.78
Parts:697532 Connector flared 4"	1	104.25	104.25
Parts:63053 Exhaust clamp	3	45.90	137.70
Parts:55614 5" flared connector	1	22.12	22.12

Parts:03614	1	77.82	77.82
4" elbow exhaust pipe	·	77.02	11.02
Parts:3120882 5" exhaust clamp	1	109.56	109.56
Parts:60853 V band clamp 5.88"	1	34.50	34.50
Parts:5206-38 Zip tie 14"1/2	49	0.12	5.88
Parts:9206-38 Zip Ties, 14"L 1/4"W	36	0.23	8.28
Parts:4-2641CP 1/4" quick connector	2	7.60	15.20
Parts:A4WS9641CP 1/4" 90* fitting	2	11.20	22.40
Parts:A-301 1/4" pipe fitting coupling	1	2.14	2.14
Parts:300838 1/4" flex tubing, per ft.	7	1.28	8.96
Parts:Red 50/50 Red coolant 50/50	1	15.50	15.50
Parts:83657.165 Coolant hose	1	98.99	98.99
Parts:004-6483G Air to air hose	1	113.28	113.28
Parts:61.535 Hose clamp	1	4.88	4.88
Parts:05x360-283G 5/8" heater hose, per ft.	6	7.53	45.18
Parts:360-050-09B12G 5/8"x1/2" 90* elbow fitting	3	4.65	13.95
Parts:50x570-283G 3/4" heater hose, per ft.	18	8.59	154.62
Parts:61-B0061G 1" pipe plug	1	8.35	8.35
Parts:02301456WK Exhaust below	1	462.12	462.12
Parts:61.535 Hose clamp	2	4.88	9.76
Parts:1/4 tube 192401 1/4 inch nylon tube Black, per ft.	8	2.25	18.00
Parts:001-283G 1" blue silicone heater / ccolant hose, per ft.	3	7.16	21.48
Parts:4080560 Alternator belt	1	59.40	59.40
Parts:0868HC-LK Brake cleaner, per L	8	9.75	78.00

Parts:B-211.488 1/4" male pipe thread	1	1.36	1.36
Parts:Freon Freon, per LBS	3.75	38.92	145.95
			Subtotal: 38,354.83
SSP:shop supplies SHOP SUPPLIES 5% ON SERVICE	1	1,024.10	1,024.10
Any warranties on the products sold hereby are those made by the	SUBTOTAL		59,861.01
manufacturer, if any. Supreme Diesel shall not be liable for special, indirect or consequential damages, e.g. articles left in vehicles, theft, down time, loss of revenue, loss of vehicle, towing charges, driver's expenses, loss of perishable	DISCOUNT		-5,625.00
cargo, etc. I/We hereby acknowledge the above repair order and an express Commercial	GST @ 5%		2,711.73
Lien thereon to secure the full amount of the indebtedness. I/We agree to pay interest at the rate of 2% per month (24% per annum), if the balance due is not	TOTAL		56,947.74
paid within the credit terms of Supreme Diesel. I/We also agree to pay storage fees of fifty dollars (\$50.00) per day, both before and after judgment plus all	PAYMENT		20,000.00
costs incurred in the collection of the balance owing; including legal fees and disbursements on a solicitor/ client basis. PH: 306 315 3000 Email:Supremedieselenterprises@gmail.com	BALANCE DUE		\$36,947.74
Customer Name:			

Signature:___